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: INSTRUCTIONS :

1. All questions in the Test are multiple choice questions.

ad

Each question carries one mark, with four alternatives out of which one answer is
correct.

3.  There will be no negative marking.

o+

Use only BLUE/BLACK Ball Point Pen to darken the appropriate oval.

5. Mark your response only at the appropriate space against the number corresponding to
the question while answering on the OMR Response Sheet.

24

Marking more than one response shall be treated as wrong response.

4

Mark your response by completely darkening the relevant oval. The Mark should be
dark and the oval should be completely filled.

8. Use of calculator, Mobile is strictly prohibited and use of these shall lead to
disqualification.

9.  The candidate MUST remove the last Carbon copy (Candidate’s copy) of OMR after
completion of Test. .

10. The question paper will be both in English & Punjabi. In case of any doubt, English
I version will be taken as final. :
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93" Amendment of the Constitution deals with :

(a) Panchayati Raj Institutions

(b) Reservation of Women in Legislatures

(c) Reservations of OBCs in Educational Institutions
(d) Eundame:}tal Duties

933 Afeuss AU AEUS J :

(a) Uufest 97 ARE= 5%

(b) feusAsT &9 W3t T IURITE 5B

(c) THftmx AFEet f&8 OBC @ IRE9s 55

d) Hiex T3 5&

Anti-Defection Law was placed in :

(a) The Preamble

(b) The Fundamental Rights Chapter in the Constitution

() 6™ Schedule of the Constitution
(d) 10" Schedule of the Constitution

fsewrs ads Ak stz famr At
(a) yrs=E f&g (b) FAfeus T HiEa viftarst @@ us f&g
(c) Ffeus &t 2=t get &9 (d) FAfeus € eret met &9
Who gives recognition to the Political Parties in India?
(a) Supreme Court (b) High Court
(c) State Government (d) Election Commission
3793 I8 IHEI3x uradnit § a= Hs3 feer 39
(a) AUy J9e (b) T IIe
(c) T AIAT (d) T »iwaT
The Constitution of India came into force
(@) 15" August, 1947 (b) 30™ November, 1949
(c) 26" January, 1950 (d) 2™ October, 1952
393 T Afeus I &g nifenr At
(a) 15n[@IA3, 1947 (b) 30" z<=q, 1949
(c) 2675, 1950 (d) 2™ nrEzEe, 1952
Indian Federalism closely resembles to the Federalism of :
(a) USA (b) Canada
(c) ﬁustralia (d) Russia
393t Auee fERe Awe™e o 993 Hee & 9
(a) niHItar (b) T3
(c) rAQEMI (d gA
The Constitution of India provides for separate Ministry for Tribal welfare in :
(a) Haryana (b) Kerala
(c) Bihar (d) Punjab
393 T Afeus qafedt dfenrs st uar Hsdhiss yors a9 O ¢
(a) dTfome S (b) IS T
(c) faosfes @ U fEw
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10.

11.

12.

Justice Sarkaria Commission was constituted to look into :
(a) Centre-State relations

(b) Communal Riots in UP in 1980s

(c) -~ Water disputes between Punjab and Haryana

(d) To create new state of Uttarakhand

AAfeH AIardmT SfHEE & a5s fog Sus &t a3 famret
(a) ITI-IH HYU

(b) 1980 T f*9 g Ut &g aRst Sa1

(c) UAmg w3 Ifonrs fegs ust Az

(d) B39z T ae g7 gTEE Bt

Who said “Public Opinion consists of the opinion held by public at a certain time” ?

(a) Robert A. Dahl (b) P.V.Young

(¢) Rousseau (d) Locke

“Ba W3 <9 fEx forfaz AN '3 Sat enrar &5t ot ofe mrfe et D7 foams faar 9
(a) dT=9e. B. FI (b) Wt = dar

(c) dfAg @ 3

Of the various indices of Public Opinion in Democracy, the least important is :

(@) Trend study of voting behaviour (b) Freedom of the press

(¢) Multi-party system (d) Responsive behaviour of authorities
B339 {99 & H3 & g1 At R, FE3 uie Hoseuss 3

(a Tfege e T onfms () J & FSz937

(c) °T Uyt (d) rifaardhor et yfs@3gerst fesag

Fundamental Rights guaranteed in the Indian Constitution can be suspended only by :

(a) A proclamation of National Emergency

(b) An Act passed by the Parliament

(c) An amendment of the Constitution

(d) _The judicial decision of the Supreme Court

93t Afeurs 9 fe3 a1 Hifsx niftarat & 1iss 13T 77 AaeT 3

(a) THCIT PIHIRHT S WHET enrgr  (b)  HAE f&T U I Miae o

(c) FAfeus I Ay enrar (d) BUIH dge ¥ fenrfex SRS enfar

Which Article of the Constitution prohibits discrimination on the basis of religion, caste,
sex, race, place of birth etc. ?

(a) Article 29 (b) Article 15

(c) Article 360 (d) None of the above

Afeus & fgasT nirgdtam uaH, A3 841, sA%, AsH A wife @ wog 3 3¢ o fegg
FIET I ?

(a) MITAH 29 (b) IS 15

(c) IS 360 (d) Budas I dte

The President of India can nominate members to the Rajya Sabha.
(@ 7 (b) 10

() 12 d) 16

3793 T JTHSIUST IHAST BT _____ AUH 3HAE Jd AFET J |

(@ 7 (b) 10

(© 12 (d 16
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13,

14.

15.

16.

17.

18.

Which of the following is not a characteristic of Socialism? trre
(a) Itis a protest against an economic and social system based on proﬁt

(b) It strives for the abolition of the State. do
(c) Itisareaction to the social and economic unjust of the Capitalist system.
(d) Itisarevolt against the exploitation of man by man.

Jot fefantt <8 faodt mmee & feRmsT &t 3 ¢

(a) feawwaanﬂafaan@mﬂﬂawf‘e@uﬁ?aén%:

(b) f&T 39 T U3H ST AWTH FIe J

(c) %umwewwmnﬁmﬁﬁaq&ﬁmﬁ
(d) f&g nmert enier niet © BEE fogu g fega T

Mahatma Gandhi believed in the Principle of Satyagraha which was :
(a) Weapon of violence

(b) Method of people’s participation

(c) Method of Civil Disobedience

Wea on to opgose violence by non-violence

< frofz <o fomem we At farer nigg At
(a) fED:lT o gfemrg (b) S & fIRet o fedt
(c) &TH®=I3S o feut (d) vfdAr enrar fJRr 2 fesu o ofamrg
The basic Principle of Liberalism :
(a) Individual Freedom (b) Social Justice
(c¢) Equality (d) Collective Freedom
Gergee T Hew U3 9
(a) feniastas A339 . (b) FHHR fonit
() AHB3T (d) AHI miFTEl
According to Marxism the history is the product of :
(a) Religious Forces (b) Political Forces
(c) Material Forces . (d) None of the above
HISATE ¥ nigH fefsam 8sue 3
(@) UIHR Ia3ter ; (b) THAEA I3 T
(c) 3f3F 3=zt & (d) Budxz It &t
Who is the author of the book Principles of Political Economy ?
(a) Ermest Barker (b) J.S.Mill
(c) J.Bentham (d) John Locke
‘Principles of Political Economy’ UASH T &4 3& J ?
(a) PEBAC TIST (b) . »A. f1s
(c) 7. geEH : (d) w33

According to Gandhi :

(a) There is no relationship between ends and means.
(b) Ends justify the means.

(c) Means are not important.

(d) Ends and means are interrelated.

gt niaA™g

(a) B3 nEP AUS fegdd At HYU &I I
(b) B3 AUST T AHIES IFot IS

(c) FUE HISYIE BT I6

(d) B33 AUS Mi3T AYU3 95
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19.

20.

21.

22.

23.

28.

‘World System Analysis’ was first presented by :

(a) David Easton (b) Gabriel Almond

(c) Robert A. Dahl - (d) Immanuel Wallerstein
‘fere Y=ot femdne’ Fa 3 ufost years at3T famr 5/t

(a) 3fes Hres o (b) IS s BT

(c) dT=Ie 2. 3G T (d) FerfsB® Twardts onmar
“Who gets what, when and how” is a subject matter of politics, who said this ?
(a) Lasswell (b) Laski

(¢) David Easton . (d) G. Almond
“farg ot fufonr, a2 ni3 fae™” awalst v femr 2Rz 37, foo famd fixar At 2
(a) ®HAH (b) HeT

(c) 3fe3 dires (d . mmiE

Which of the following approaches falls within the traditional approach?
(a) Marxist (b) Structural-Functional

(c) Commwlication (d) Systems

It fefantt 18" faast ude foerfest uds nidts @ 3 ¢

(a) HIARSE (b) TTIA-AIHIHA

(c) Fu9 d) YT

Who authored, “Two Treaties on Civil Government” ?

(a) Hobbs (b) J.S.Mill

(c) Locke (d) T.H .Green

“Two Treaties on Civil Government” faRa &t /it

(@) dum (b) #.9A. i

(c) 3 d) = s

According to Aristotle which of the following is the best form of government :
(a) Oligarchy (b) Democracy

(c) Polity 3 (d) Tyranny )

mfgRee ¥ MEATS AT € R 3 dinr gu Jst t g faasr 9
(a) nEUIIT (b) I3

(c) FWyd d) daEdt

Gandhi wrote ‘Hind Swaraj’ in the year :

(a) 1907 (b) 1908

(c) 1919 (d) 1920

gt 3 “fde reaw’ fam A fadt &t

(a) 1907 (b) 1908

(c) 1919 (d 1920

Dialectic Method was first introduced by :

(a) Aristotle (b) Marx

(c) Tolstoy 3 (d) Hegel

39ayds fedt A8 3 ufost gy oSt aet At

(a) wifaRee enmar (b) HIIH TraT

(c) CTBACE eofra (d) IS e
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26.

27.

28.

29.

30.

31.

32.

Who is the author of the book ‘Prince’ ?

(@) Machiavelli : (b) J.L.Nehru

(¢) Indira Gandhi (d) Plato

sy ‘IR’ e dug dz 3 7

(a) HHMS : (b) #S. sfag

(c) fEegr ardt d) e

Locke has used Social Contract theory to justify :

(a) Political Absolutism (b) Supremacy of Judicial Organ
(c) Liberal-Democratic State (d) Absolute Loyalty of Citizens of the State
B & of fiU a96 e AEs dedae U3 e ytiar o3 A

(a) TSI faguuee (b) foni Y=t & Aaee3T

(c) CeogTat-Ha33dt IH (d) ¥ T ARSI & foguy fenrserdt
Who said “Will not Force is the basis of state” ?

(a) J. Bentham (b) T.H. Green

(c) B.R. Ambedkar (d) Locke

“ggMf &I Ui g € viorg 9 fars faar B

(a) . 58N (b) 2w, s

(c) t. v, wigTag d 3

How many features of Behaviouralism Approach have been given by David Easton ?
(@ 6 (b) 4

() 7 (d 8

(@ 6 (b) 4

9 7 @ 8

Who was the chairman of the drafting committee of the Constitution of India ?
(a) B.R. Ambedkar (b) Sardar Patel

(c) M. K. Gandhi (d) J.L.Nehru

393 T Afeurs & 39eféar it T Inans s At ¢

(a) . nirg. niETag (b) FAITT UTH

() WH. . Jrdr (d) . . sfag

Who is the author of “My Experiments with Truth” ?

(a) J.L.Nehru (b) Moti Lal Nehru

(¢) M. K. Gandhi (d) A.P.J. Abdul Kalam

“My Experiments with Truth” ¥ 4 3= J ?

(@) #. 0. afag (b) W3t &S sfag

(¢) . . Jrdt (d) BAFA. »ETS T&H

Who is the exponent of ‘General Will’ ?

(a) Machiavelli _ (b) Rousseau

(c) John Locke (d) J. Bentham

‘General Will’ & fenftmrarg gz 92

(a) HHH (b) S

(c) 75 I (d) 7. gzEM
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T

33.

34.

35.

36.

37.

38.

39.

40.

According to Marxists the state is :

(a) Divine Institution (b) Natural Institution

(¢) Result of Evolution (d) Man-Made Institution
P YSATS I 9

(a) JI& AREr (b) ISt AEET

(c) feam e &3 (d) wH== faafiz ARar

(a) arl W. Deutsch Gabriel Almond
(c) Hans Morgenthau Talcott Parsons

The Cybernetic Approach to the study of &olitics was applied by :
)
(d)
THaIST € nifs & Arfeaadfes dge wr it aet At -

(a) 9% 3AER 589 enrar (b) IS s T
(c) UH HIIEEE gnrar (d) 2B UIHEH enraT
Which one of the following is the most acceptable theory of the origin of State ?
ga) Force Theo (b) Divine Theory
¢) Historical Theory B (d) Social Contract Theor
IH & 83Ut ¥ A8 3 Ju Ataron U3 Jot ffamt 129 fxgar ?
(a) =% fAO3 (b) fefzomx fRuiz
(c) udfHx fragis (d) AW fegarga oz
The view that there is a close relationship between justice and equality is attributed to :
ag Individualists (b) Socialists
c) Idealists 2 (d)__Anarchists
fegms fa fontt ni3 masT fegams a3 Agy 9 o= oRer I -
(a) fenESterdhn e (b) AHHEEMT T
() MEIRSEMf o (d) niIHEIEEM BT
The Rule of Law means :
%a; Law is supreme. (b)  The President is supreme.
¢) Parliament is supreme. (d) Judiciary is supreme.
qEE IH T 0iEE J
(a) TE5 AIS3H I (b) TIHCIUIT AIS3IH I
(c) FAT AIS3H I (d) foniryzat FoesH 3
Who said that, “Political Liberty without Economic Liberty is a Myth”?
(a) T.H. Green (b) J.S.Mill
(c) H.J. Laski bs (d) G.D.H.Cole
“nirgfae GerasT 3 fawr Iwelsa Qe fig 377 faHa faar At 9
(a) 2t ote. dfts (b) 7. 27 s
(c) »9. H. SHET (d) . st oo, a8
In Democracy the final authority rests with :
(a) Parliament fb) Bureaucrac
(©) _ People ’ d) Council of Ministers
B339 feg, nrdidt niftierg 332 Ts:
(a) FAE B (b) rEAIE FS
(c) 3 IAB (d) ¥ €t At o

Who gave the Theory of Separation of Powers ?

ga; Marl l\TAanfr fg) adogteAncstquieu
c ao Tse-Tun or on
HaShft &t mm‘zl?zri? T fros fams fesr FI% ? :
(a) TTB HIH (b) HacoHAE

(c) HB-Ft-Zar (d) 93 nrdes
7 Paper-II (Political Science)



41.

42.

43.

45.

46.

47.

A Totalitarian State has generally :

(a) Single Party System (b) Bi-Party System
(c) Multi Party System (d) Absence of Any Political Party
fex : IH @8 »mi39 3 &t 3

() fox ugdt yzmit (b) T-usd yze
(c) =T uadt yzat - (d) 13E T IVEEE wm @ nisge
Which one of the following countries has a unitary form of government ?
(@) U.S.A. (b) Switzerland

(c) Pakistan (d) China
aﬁﬁﬁwﬁ%fﬂ%%ﬁam@m;@% ?

(a) »iHdiar (b) ufsEzss

(c) HAfecHads d

Who among the following is not a social contract theorist?

(a) Locke (b) Hobbes

(c) Laski (d) Rousseau

Jot fefanit &3 faosr mma feamraam o fioisa st 3 9
(@) &= (b) J=A

(c) Aot (d) dJfRG

Who propounded the ‘Saptanga Theory of State’?

(a) Mahatma Gandhi (b) Kautilya

(¢) B.R. Ambedkar (d) J.L.Nehru

‘IH ¢ RUET AU’ T yfsures famd &t At 2

(a) HIT3IHT gt (b) Sfewnr

(c) €t »a. nidTas (d A sfag
Who among the following is not Elite Theorist?

(a) J.S.Mill (b) Mosca

(c) Pareto (d) C. Wright Mill
J&" fef3nt i85 ooz Ars =99 o firaisarg adt 3

(a 7. 2A fius (b) Hra

() Uy (d) Ft. I s
Who is the author of the book ‘Political Development’ ?

(a) David Easton (b) Gabriel Almond
(¢) S.P. Huntington (d) Karl Marx
‘THBISS feR’ YRS o dvw g= I 9

(2) 3fes dmes (b) IS iz
(c) »m. 0. Rféares (d) IIH HIIH

The Principles of Liberty, Equality and Fraternity were let loose by:

(a) The Glorious Revolution of 1688 (b) The American War of Independence 1776

(¢) The Russian Revolution of 1917 (d) The French Revolution of 1789
8erasT, mHaTT, Ity @ s 23 A3 @ As

(a) 1688 T HHA nivss I (b) 1776 € mirdiar &t nraret St Har
() 19172 gAvEss I8 (d) 1789 39 rives I
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48.

49,

50.

51.

52.

53.

54.

55.

Equality before Law is one of the most important ideals of the :
(a) Fabians gll))) Liberals

(c),  Marxists ~(d) Anarchists
TEBI FHEST A 3 Ha32Yds niredl 3

(a) TQUd e (b) BT e
() MHIIAEMT & (d) n»IHIITE BT
Locke said, ‘man by nature’ is :
(a) Social and sympathetic %b) Selfish
(c) _ Very selfish ; 3 d) Very dangerous
“B S faxar At nredt FImr g
(@) FHHI M3 HEedd 9 (b) FEwrIE I
(c) =I3 HvigEt I (d) =I3 ¥IIBH I
Parliament form of government was first evolved in :
(a) India (b) Canada
(c) Britain g 5 (d) Japan
AIaTd & AAET gU 83Us Ifenr At :
@) IIFIE (b) 33 f&w
(c) TI3shr &g d) s
Nl)lmbzer of input functions given in the St(l{)t;ctuﬁll Functional Approach is :
(a
{9 3 s e o
T fafonrts uds feo 93 o fesue Samst &t Bt 3
ga; 2 ; b; -4

c) 3 d 5
Shiromani Akali Dal was founded in :
(a) 1947 (b) 1926

c) 1922 ap ) (d) 1920

: WIS TS o ue Jet J
(@ 19473 (b) 1926 fEg
(c) 1922fsw (d) 1920fw
First Sin%h Sabha Movement emerged in :

a) 1873 (b) 1857
£c 1885 e (d) 1890

fAw T nigss Jfemi Hro

(a) 1873w (b) 1857 <9
(c) 1885f3w (d) 1890w
PEPSU was merged in Punjab in :
(@ 1956 (b) 1947
(c) 1966 d) 1962
PEPSU & Unmg &g A ait3r famrr At
(a) 1956 feg (b) 1947 f3g
(c) 1966 feg d) 1962 fT
Who became the chief minister in Punjab in 1985 state assembly elections ?
(a) P.S. Badal (b) Darbara Singh
(c) Surjit Singh Barnala ; (d) _ Beant Singh

1985 S I mifgst 9=t &g Uarg o 1y ¥3St aF gfenr A/t 9
(a) Ut A, e (b) TIET fRw
(c) FHorl3 fiw g (d) =iz fAw
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56.

5.

58.

59.

60.

61.

62.

Punjab Accord was signed on : MY 4

(a) 20" April, 1985 (b; 24" July, 1985

(©) 20" August, 1985 (d) 25" August, 1985
UAE AUt JAS™YT =St ast At

(a) 20Us, 19858 (b) 2473E, 19853

(€) 20 naH3, 1985 8 (d) 253, 19853
Who is the author of the book ‘Knights of Falsehood’ ?

(a) KuIdiq_Nayyar (b) Kushwant Singh

(c) Mark ully 4 . d) K.P.8.Gil

YRS ‘U5fager 3 38sRede’ o Sux a= 3 9

(a) IHBEY FEMIG (b) YRS fRw

() W 3& (d) .t »A. s
Which one of the following is NOT a characteristic of Indian Administration ?
(a)  Uniformity )  Decentralisation

© Diarchy_ d) _Independent Judiciary
J&" fefanifes faadt sot yams o foa feimzr ot 3 9

(a) feamrazr 2 (b) fTdiags

(c) < »iHt aw (d) B339 fonr ysst
The word ‘Bureaucracy’ was first coined by :

(a) Vincent de Gournay (b) Max Weber

(c) Spencer 5 (g L. D. White

HEE ‘SImdt’ A8 3 ufast wisnr fomr At

(a) fesAe f3 393 g (b) NIA IT nrar

(c) FUSHI enfrar (d) . 5t e e

Who among the following makes a clear distinction between Public and Private
Administration ?
(a) Henri Fayol (b) Mary P. Follet

(¢) L. Urwic (d) Paul H. Appleby
%&%ﬁ%&%ﬂ%ﬁﬁn@mw@mm»ﬁaaﬂ?ﬁ ?
(a) JaIt B (b) Rt SBe

(c) . Bafex (d) u'®. . NusaTe

The parliamentary form of government is characterized by :
(a) Political Homogeneity

(b)  Separation between Executive and Legislature

(c) i(le{)aration between Executive and Judiciary

(d) the above
AIag € AFeftgy &t feimsT o =gss stz mier 3

(a) TFBHIX AHUST
(b) I ydua »i3 feus Hiss g fogw
(©) TIH ydua m3 fanit Yzt ffg fege

(d) Budas AT

Which Vice-President of India tended his resignation to contest for the office of The President ?
ga) Rajinder Prasad (bg Giani Zail Singh

¢) Pratibha Patil (d) V.V.Gin
F'93 ¥ 903 Qu-gHeauSt ¥ THeaut T w39 Bt foere ‘3 MU niRdte fis H 9
(a) Tfies yre (b) forrst 7%

() yf3sr ufes (d) = fast

Paper-I1 (Political Science) ' 10 A



65.

67.

68.

The number of nominated members in the Lok Sabha is :

(@ 12 (b)) 2

(© 4 @ 6

BaRg" {9 arHme Aefimrt & frsst 3

(a 12 (b) 2

() 4 (d 6

The Indian Constitution reserves the residuary powers to :

(a) The States (b) The President

(¢) The Union (d) The Judiciary

95T Afeus nizEshor mashr an@ing ger 3

(@ I3 (b) THCIUF

() Aw3d (d) fonr yssr §

Who was the first Chief Justice of India after independence ?

(a) Justice M. C. Mahajan (b) Justice M. Patanjali Shastri
(¢) Justice Hira Lal J. Kania (d)  Justice B. K. Mukherji
A3393" 3 ¥ 3793 o ufde de ARfeR S ot 9

(a) vRfer o, /. Hows (b) FAfeR WM. USAEt IR

(c) FAfeH Tt & 3. st (d) wrfer &t . HusHt

In India a person can be a member of cabinet without being a member of Parliament for a
maximum period of :

(a) 6 months (b) 4 months

(c) 1 year (d) 8 months
mﬁa@aﬁnﬁﬁm@ma@ﬁwéﬁéﬁﬁﬁnﬁmm?maﬁ
Ao J 7

@ 6xdE (b) 43

() 1S d) 8HIS

The Supreme Court of India tenders advice to the President on the matters of law or fact :
(a) Onits own initiative

(b) Only if he/she seeks such advice

(c)  Only if the matter relates to the Fundamental Rights of citizens
(d) If the issue poses threat to the unity and integrity of the country

3193 T AIREY nes3 THeUSt § g A 38 v Mt g Fesrg i
(a) fEret niust ufos 3

) free Few 89 wifidt mrg srdead 3

(c) fHIS Aeg WA arafaat & gfonmet wiftarst a7 Hegs 3

(d) 79 Her 3 & 833 2 s Bt wsar S |

The De-Jure head of a State Administration is the :

(a) Chief Minister of the State (b) Law Minister of the State
(¢) Home Minister of the State - (d) Governor of the State
IH YHHS & adat it 3 -

(@) TIH e WY ¥zt (b) T T IEB K3

(c) TW T gfg ¥zt (d) IV T I=IEI
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69.

70.

71.

72.

73.

74.

.

The President of India : s
(a) is similar to the President of France in the mode of his election to office.
(b) is part of Parliament.

(c) presides over l'l)o oint sitting of both the Houses of Parliament.

(d) one of the a

I3 T JHSIUST :

(a) U= feut fSe g 2 IHCIUZT @ AN D

(b) FARE T fdAr 3

(c) HAE T €T AEa' O AUa3 AT O YUt s9er I

d) Budas 3=t adt

Power to amend Constitution in India lies in Article :

(a) 368 (b) 358

(c) 366 (d 371

3793 9 Afeus 89 Ay T niftars for niradlas ffg 3
(a) 368 (b) 358

(c) 366 (d) 371

Directive Principles of Indian Constitution were taken from the Constitution of :
(a) Japan (b) U.S.A.

(c) Ireland (d) Germany
3793t Afeus ¢ fagersHa a3 fem Afeus 3° %2 @ As
(a) AU (b) wHdtar

(c) nfea @3 d) Tt

The Fundamental Duties were mcorporated in the"lndian Constitution :
(a) 44 Amendment Amendment
(c) 42™ Amendment (d) None of the above

gfenret gg3=t § Afeus &g mris o3 famr &

(a) 443 Fu fog (b) 433 Ru fS9

(c) 92 Fufdw (d) Budas aTt &t

Which of the following State has Bi-cameral Legislature in India ?

(a) Tamil Nadu (b) Kerala

(c) West Bengal v (d) Bihar
m&gwﬁrﬁwﬁ?%ﬁwﬁgemmﬁm%

(a) ITHS &3 (b) IS

(c) UaH gars (d) fHIg

The pardoning power of the President of India is under the Article of the Constitution :
(a) 72 (b) 73

(c) 74 (d) 68

3193 & THSIUST T funr 5395 T wiftarg Afeurs @ fer miradles nidts 3
(a) 72 (b) 73

(c) 74 (d) 68

Which of the following is the custodian of the Constitution of India ?

(a) The President (b) The Supreme Court

() The Prime Minister 5 (d) The Speaker of Lok Sabha
3793 © AfeUs o T gE J 2 :
(a) TIHeIU (b) FUSH S

(€) yus H3St (d) SRz T miag
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76.

77.

78.

79.

80.

81.

82.

In the year 1977 an official committee was constituted to examine Panchayati Raj under
the chairmanship of :

(ag " Ashok Mehta gb; Balwant Rai Mehta

(c) Manohar Lal Mehta d) Ram Mehta

A% 1977 f&g Jorfest o & Aioddas oot g ve3dt andt o aes fer & yusdt 35
3T fomnr At

(a) wAX Hfg3T (b) &3 gfe Hfaz
() HBEITB BB Hig3T (d) I HfgsT
Right to Information Act was enacted in :

(a) 2007 (b) 2009

(c) 2005 (d) 2008

goaT T rifaarg uTH o3 fopr At

(a) 2007 g (b) 2009 ST

() 2005fT (d) 2008 fTg
73 Amendment came into force in :

(a) 1992 (b) 1994

(c) 1997 (d) 1993

73& AU It At :

(a) 1992 f3g (b) 199439

(c) 1997w (d) 1993 <9
Who is the present Chief Election Commissioner of India ?
(a) S.Y.Qureshi (b) Navin Kumar
(¢) N. Gopalaswami ¥ (d) Nasim Zaidi
3793 T Hge' HY 98 afHRss aE J 7

(a) WA. TE. ISHT (b) &<ts IHT
() W&, FUEBHSH (d) AN At

The Chief Election Commission of India can be removed from office during his tenure by :

(a) Chief Justice of India if some charges are proved against him

(b) By the President on the basis of resolution of the union cabinet

§c) By the President on the basis of a resolution passed by the Parliament by 2/3 majority
d) Cannotberemoved FE A ;

F93 T Y 5& niftardt & B8R T TS €96 UE 3 JeTfent /T AAET J ¢

(a) 93 2 die AAfern wns 7 AR fEgu ot fewa Afes e 9

(b) TBMis F3E T H3 T nUd 3 TTHSIUST o

(c) FAE T 2/3 SUHS3 20T UTH YFS< © U9 3 TTHSIUST 2rdr

(d) It Tefenr 7 AET

Which Article of the Constitution is related to the Election Commission in India ?

(a) Article 352 (b) Article 370
(c) Article 324 _ (d)_ Article 270

o f5azT mirgdtas 3193 &g 9 nitial &% AYUS J ¢
(a) IS 352 (b) 1B 370
(c) 1IctaS 324 (d) IEH 270
The total number of States at present in India are
%a) 27 (b) 35
(c) 28 d) 29
Haer AN 393 f&g o & faest 3 ¢
(a) 27 (b) 35
(c) 28 d) 29
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83.  The major responsibility of Election Commission in India is :
(a)  To finance the Political Parties  (b) To conduct free and fair elections
(¢) To propagate for Political Parties (d) None of the above
3793 &9 9= mitiar & i itkerat 3
(a) TS uadnit & &9 Busay aarler
(b) H33I M3 sty gt agela
(c) TASHEI uahor et yorg agar
(@ Budaz Jet 5t
84. Ifthe Panchaﬁ/at is dissolved the elections are to be held within :
(a) 6 months (b) 3 months
(¢) 1 month A S I d) 1 year
Ao Uer(es gar It I 3t 9 Jatert TS
(a) 6 HJMfenit nieg (b) 3 HJHfomit nigg
(c) TEa HAB nieg (d) 1A nieg
85. Which one of the following is not included in the State List of the Constitution ?
(a) Police (b) Law and Order
(c) Prisons . X (d) Criminal Procedure Code
J&* fef3nt feg faoar Afeus & o 5ot o9 ms &t 9 ¢
(a) ufsA b) ITB5 ]
(c) &= . (d) »UIT nraTg I
86. Who said ‘Man is born free every where he is in chains’ ?
(a) Locke (b) Marx
(c) Rousseau ’ (d) Bentham
‘et B339 Uer Ifenr 3, 99 mr G0 Al 89 37 oA faar it 9
(a) B33 (b) HIIH 3
(c) IME3 (d FeEH3
87.  Which one of the following is not the Principle of Liberal Democracy ?
(a) Government by consent (b) Minority Rule
(c) Public Accountability . . (d) Constitutional Government
I fefanft &5 faosr Bergeret B39 o fiaiz &4t 3 9
(a) TAHE ToiaT AgETg (b) riEURfMR fSaH
() uafea Fegedt (d) FAfeuss AIIg
88. ‘Democracy means tolerance, tolerance not merely of those who agree with us, but of
those who do not agree with us’, who said this ?
(a) J.L.Nehru (b) Mahatma Gandhi
(¢) _Indira Gandhi (d) Sardar Patel s Y
‘Ba338 3 32 I AfoEHET, Hﬁ?ﬁmﬁﬁg@ﬂﬁﬁ?ﬂ?ﬁﬂ%%ﬁhﬂgmuﬂg
8us' € 7 A3 &% oWz &t 95° fro famR fxgr &t
(@) . 9%, afos (b) HITIHT grict
(¢ e ardt (d) FAIET USH
89. Who is the Chief Minister of Andhra Pradesh ?
a) Chandra Shekhar Rao (b; Navin Patnaik
%c) Mamta Banerjee 5 (d) Chandra Babu Naidu
MIUTT Yer & HuH3dT s 3 7
(a) dYv9 Ayg I8 (b) &<t uesfea
() HH3™ Fxa ' (d) dequy afeg
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90.

91.

92.

93.

94.

95.

96.

97.

The quorum requirement in the Rajya Sabha is :

(a) (b)

(c) 25 (d)

IvAeT feg &3ter JaH I :

(a 50 (b)

(e 25 (d)
Direct Democracy is found in :

}a) USA. }b;
c) lndla d

Uy BA33I UTfenr e J

(a) wiHdlar &9 (b)

(c) 393 feg (d

The headquarters of SAARC is located in :

(a) Kathmandu %b)

(c) Islamabad d)
SAARC T I3 gnfiaed AfE3 3

(a) oM e (b)

(c) fermyae feg (d)

40
30

40
30

Switzerland
France

Afecraa s feg
g feo

New Delhi
Dhaka

&=t foet f&g
T f&g

The U. N. Assembly passed the Declaratlon of Hugnan Rights on :

(a) 10 December, 1947

(c) 10" December, 1950 (d 10l December, 1948
AGSS JHST MASST & Hadt nifgargt S wesT a3t At :
(a) 10fcA=g 19473 (b) 10 fer=Eg 19463
(c) 10 fer=Eg 19503 (d) 10fcrAEg 19483
The first Non-Aligned summit took place in :
(a) New Delhi ; Cairo
(c) Jakarta d) Belgrade

9t fryg AR®s dfenr B
(a) o<t st feg (b) afes R
(c) w3 &9 (d) FaqE feu
Number of SAARC Countries is :
(@ 7 (b) 8
(c) 6 d 9
SAARC ©H' & Afinr 3:
@@ 7 gbg 8
() 6 d 9
The headquarters of U.N. is at :
(a) Washington D. C. ) London
(¢) New York d) Moscow
AUSS IHT T J3aaed J
(a) <fidres stAt. feu (b) 35 fey
(c) fo8 uroa feu (d) ¥rx ey
Which of the following States is not a permanent member of the U.N. Security Council ?
(a) US.A. (b) Russia
(c) Brazil (d) China
It fefamit &5 faasr Auas ITHeT Haftmr IA® o FETst AR &4t J ¢
(a) ater _ ®) A
(© FHis @ s

15
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98.  Which one of the following countries has been lastly made member of the SAARC ?
(a) Bhutan (b) Nepal ,
(c) Maldives__ (d) Afghanistan
It fefanit &9 foaz 21 Mg o nrft g AYA J
(@ B (b) U
(c) HmTR (d) nigIrfeAsS
99. BRIC countries are characterized by their:
(a)  Geographical Equation (b)  Economic Development
(c) Social Values (d) Political Regimes
BRIC ¥R 3 ugrfan qier ¥ Quar &
() 3dfsx miteEs 3 (b) nirafa feam 3
(c) AHAS NS I (d) TIHSH3a I ydy I
100. The Headquarters of NATO is at :
(a) Brussels (b) Paris
(c) London (d) New York
NATO & ISemirged I
(a) gr®a fey (b) uUfgr fey
(c) ®35fey (@) fs€ urga feu
101. The number of UN General Assembly members is :
?a) 170 (b) 197
c) 193 g (d) 190
RUS3 ITHST AIa® WSS @ Neat ot F!%W J:
@@ 170 (b) 197
(c) 193 (d) 190 :
102. The Agreement 123 between India and US is mainly related to :
(a) Nuclear Co-operation Eb; Cultural Co-operation
(¢) Educational Co-operation ¢, d) Political Co-operation
FII 3 123 AHS3T WY 39 '3 AU 3:
(a) foBa@hs Rfgtiar 5% (b) FfmI9x AfgGT 575
() Rfomx mfotar s (d) IHSH3x Afotar &6
103. Doctrine of Panchasheel was first signed by : ;
(a) India and Pakistan (b) India and Burma
(¢) _India and Soviet Union (d) India and China
U9HIS & fHof3 A8 3 ufost grsmyg oitsr famr 7t
(a) 393 03 Ufarss enrar (b) 3G M3 FIHT TN
(c) I3 NP IS Gais T (d) 93 w3 s v
104. Redcliff Line divides India and:
(a) China (b) Pakistan
¢) Burma o (d) Nepal
I IITEUI I T
(a dts (b) yfarss
(c) =0 d) dus
105. Tl;e mémber of Permanent members of Security_fCouncil 1S :
(a
(c) 10 ; d 5
Hfn udtee ¥ ravet Naat & dfior 3
(a) 8 gb) 7
(c) 10 d) 5
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106.

107.

108.

109.

110.

111.

112.

Who is the Foreign Minister of India ?
(a) Rajnath Singh (b) Ravi Shankar Prasad
(c¢) Sushma Swaraj (d) Anand Sharma

g9z v feemiisft a= 3 ¢

(a) IWaE A (b) I Haw yAE

(c) HAH ARIH (d) nEE HIH

The initial US policy toward the Soviet Union after World War II was called :

(a) Containment (b) Détente

(c) _Rollback 3 y (d) Bilateral
%ﬁm@?mmmﬁmgmmmﬁﬁ:

(a) Prﬁ-rF&ss' (b) A ATt

() IBE d @35

The Policy Détente suffered a major setback when the Soviet Union invaded which
country in 1979 ? -
(a) Poland (b) Pakistan

(¢) China (d) Afghanistan

HE' ATt USHT § 3 dar S@ET funn e 1979 9 Az Fwr 3 fam R °3 gt
St At 2

(@ U3 ®) ufaA=T
(c) o (d) nieErfeRzS
Who were the main opponents in the Cold War ?
(a) US and China (b) US and Soviet Union
(c) Indiaand Pakistan (d) India and China
i3 g R Wy feddt e At
(@ rdter 3 dts (b) M N3 A G
(c) 393 M3 Uz (d 3TN B
Which one of the following is not a Regional Economic Organization ?
(a) OAS (b) ASEAN
(c) SAARC (d) NATO
It ffanit &9 faast At s Argr &t 3 2
(a) OAS (b) ASEAN
(c) SAARC (d) NATO
Which term refers to the Developing World’s belief that in many ways, the First World is
still exploiting it economically ?
(a) Perestroika (b) Mercantilism
¢) Neocolonialism (d) Liberation Theol

0
R feanREYS e & Hs § s a9 3 fx ufow fore o 9 59 I o
ngex 39 3 forer Ars a9 faor 3
(a) AN »9Ex YEy &t usd 8rrdt (b) T=vew

(c) Bufsemee (d) HaSt FHST
Who said ‘Imperialism is the highest stage of Capitalism’ ?
(a) Karl Marx (b) Stalin
(¢) Mao Tse Tung d) V.I Lenin
‘AHTHETE Udtee o 934 usm Y’ faar /&t 2
(a) TS HISH (b) FeiEs
(c) W8 A Far @ = o ¥fss
' 17 Paper-1I (Political Science)



113;

114.

115.

116.

117.

118.

119.

Which one of the following is not a member of G-8 countries ?

(a) Italy (b) China

(c) France R (d) _ Japan

I&" fEfamit fed ooz we 35 & AR &t 3 2

(a) feest b) %

() .§F @ s

Cultural Revolution is associated with

(a) China (b) UK

(c) USA i (d) France

7 IS ASUS I :

(@) 9553 (b) T FH

() »HItar &% d) THS

Theory of Separation of Powers is an important feature of which Political System ?
(a) India (b) UK

(¢) France & (d USA
mé@w@mmmﬁawamﬁma ?
(@ 393 b g

€ gw (@)  nidter

There is close relationship between Legislature and Executive in which one of the.
following political system ?

(a) USA (b) Switzerland

(c) UK (d) None of the above

A9 ? |

(a) nHStEr (b) AfecHads
© g« d) Budss et w5t
Judicial Review is found in :
(a) Russia (b) Switzerland
(c) UK - (d) USsA
foady uzgs urst miet -
(@ gAfew (b) Ffeenads feg
(0 gafiw (d) »dlar feg
The Amendment of the Constitution is very difficult in :
(a) Switzerland (b) USA
(5:; India . (d) France
39 Au gz afss 3 :
(a) HAfecTads feg (b) rHdter &g
(¢ 393 feg d) gTHfHE
The number of original members of UN General Assembly in 1945 was :
(@ 51 (b) 60
(c) 45 d) 48
1945 {35 AUS3 THET Foos nREwE! ¥ Hiex R ot Hor 57 -
(@) 51 (b) 60
() 45 (d) 48
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120.

121.

122.

123.

124.

125.

Who is the author of ‘Politics Among Nations : The Struggle for Power and Peace’ ?

(a) Richard Snyder (b) Robert A. Dahl

(c) S.P.Huntington (d) Hans J. Morgenthau

‘Politics Among Nations : The Struggle for Power and Peace’ &7 34 3= 9 ?
(a) fouss Afsss (b) THIC T IIH

() A Iféares (d) IR A. HoaeE

Name the author of the book ‘End of Ideology’ :

(a) David Easton (b) Gabriel Almond

(c) Daniel Bell (d) None of the above
‘BT 3 TEgRd’ yAsa T A dE 9 7

(a) 3fes s (b) IS vz

(c) Sfonw Tw (d) Budas =t &t

Article 370 of the Indian Constitution is related to which of the following Indian State ?
(a) Jharkhand (b) J&K

(c) Tripura (d) Kerala

g3t Afeurs & wadla® 300 I&t fefamit &9 a3 g3t 9w o Aduz 3 2
(a) S9U3 (b) 7 FAHT

) fRua d) B

Name the author of the book, ‘Comparative Politics : A Developmental Approach’ —
(a) G. Almond and Powell (b) Robert A. Dahl 4

(c) David Easton (d) None of the above

YASA ‘Comparative Politics : A Developmental Approach’ ¥ 34 € &H J

(@) #t. &3 ni3 Us (b) IEIC . 3TH

(c) 3fes stres (d) Budaz ast &t

Which Social Science is prior to Political Science in Origin ?

(a) Psychology (b) History

(c) Philosophy (d) Sociology

gz mm fefamis 83ust R ‘awaist ARse’ 3 ufost w7 3 ¢

(a) Hafefamrs (b) fefsam

(c) TIAS HAST (d) AN HHIST

Which Political Scientist said, “History without Political Science has no fruit, Political
Science without History has no Root” ?

(a) Henry Sidgwick (b) John Seeley

(c) Pollock (d) Samuel P. Huntington

far awatst ARsdt & faor A, “Iwetst FAEze 3 fast fefsom o &t @ &dt 9,
fefzam 3 fagt Tvdit ARSI S Az 5 317

(a) Jadt frmfex (b) ¥ HB
(c) &I d) R ut Iféaes
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126.

The Pluralists are in favour of

(a) Abolition of State (b) Stateless Society

(c) Curtailing Powers of the State (d) Increase the Power of the State
W feg a5

(a) THE Y= (b) JIRIES A

(©) T it HIEoft & werar (d) TH it BISInit § T

127. In view of Marxist State is :
(a) A Class Structure (b) A Power System
() A Body of Exploitators (d) A Welfare Organization
HIaRSE ¢ fegrg ffg am 3
(a) fex J&t gus (b) fea rt yawit
(c) FHHat & A3 d) fEx afersadt vrgr
128. Who propounded the theory ‘Survival of the Fittest’ ?
(a) Adam Smith (b) Karl Marx
(¢) John Locke (d) Herbert Spencer
“Survival of the Fittest’ fU'3 fxm® UF stz 7t
(a) 3N RAfig (b) TIB HIIR
(©) 7IEFa (d) II99e AUBAT
129. Article 18 of the Indian Constitution is related to :
(@) Parliament is Supreme. (b) President is Supreme.
(c) Abolution of titles. (d) Judiciary is Supreme.
393 Afeus & nradtas 18 v Hdg 3 -
(@) FAAT A4 3 (b) TIHEcIUST Ree3N D
(© Sudn & yan gger § (d) &% feemEr FeezH Y |
130. Who among the following is not associated with Panchayati Raj Committee in India ?
(a) Balwant Rai Mehta (b) Lord Acton
(¢) Ashok Mehta (d) M.L. Singvi i
It fofamrt &5 faaar Panchayati Raj Committee in India 37 AEfG3 & 7
(a) =8E3 Tf Higs (b) I3 MaEs
() »Ax Higsr (d) w= fHust
131. Who is the author of the book ‘Political Man’ ?
(@ S.M. Lipset (b) Woodrow Wilson
(c) Mosca h (d) C. Wright Mill
‘Political Man’ YRS &7 &ux &= 32
(@ "R M. foulte (b) 39 femrs
(c) ¥rar (@) #. IEe fits
132. The League of Nations came into existence :
(a) 1917 (b) 1918
(c) 1935 : (d 1919
THST' T Fw 3T &g nrfenr 5/t
(@) 1917 (b) 1918
(c) 1935 (d) 1919
Paper-II (Political Science) 20 A



133.

134.

135.

136.

137.

138.

State funding of elections takes place in :

(a) USA and Canada (b) Britain and Switzerland
(¢) Germany and Austria (d) France and Italy

9t T I onfrar SfSq It 9

(a) PHIE w3 33T g (b) 1525 3 AfecHads &g
(c) TIHET mi3 g feg (d THS et o

Which of the following statement is not correct in case of US ?

(a) Bill of Rights is enumerated in the US Constitution.

(b) The Constitution is the supreme law of the land.

(¢) There is a provision of single citizenship in USA.

(d) The members of the House of Representatives are elected for a period of two years.

Jat fefantt i faasr aEs widlar © Adu f&g Adt st 3

(a) mm?faanmﬁa?m%awﬁmaﬂfﬁﬁmﬁﬁl
(b) Afeus »iiet TIst ©F AIEEY 6% I

©) vidter 9 feafodt safessT & mas D

(d) yf3fatt ¥izs © Aer € At &t 92 A 95 |

The first to implement the concept of Planned Economy was :

(a) J.L.Nehru (b) J. Stalin

() Marshal Tito (d) Mao Ze Dong
WS nigefeerer @ UdaT § A8 3 ufast s &t AT

(a) 7. 0%, sfog 3 (b) 3. Aefes 3

(c) HIHS e 3. d HBFHITS
Which one of the following is not a part of the American Constitutional Practice ?
(a) Collective Responsibility (b) Pocket Veto

(c) Senatorial Courtesy (d) Filibustering

It fefamrt 139 fagar mdielt Afeuss argerst o fmr st 3 2
(@) PAHIA frine<t (b) uae e

(c) YAAs AHEE faresT (d) fefwarefdar

One of the significant contributions to Marxism in the 20" century is the conception of
‘The Intellectuals’ developed by :

(a) Lenin (b) Althusser

(c) Lucka’s (d) Gramsci

20 3 A3t 99 HaRTRE § AoER Ut &9 €] “The Intellectuals’ & ﬁe'am

3T famrr At -

(a) Bfss onmar (b) MSBEAT oiraT
" (¢) BAH AT (d) IETHAST BATaT
Who was the chairman of the first state reorganization commission in 1953 ?
(a) B.R. Ambedkar (b) Sardar Patel
(c) Justice Fazal Ali Sllah (d J us&ice A.N. Sinha
1953 {9 ufad Im-UsIRASE SfHAG € INTRs SE A 7
() . nig. wigeag (b) FAITT UIH
(c) TRfeR <& »iEt B (d) wAfer 2. wis. fAsar _
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139.

140.

141.

142,

143.

144.

Which one of the following types of Equality is not compatible with the Liberal notion of

Equality ? SN
(@) Legal Equality (b) Economic Equality 1t
(¢) Political Equality (d) Social Equality
wﬁﬁwﬁ%faﬂ?‘rmﬁw, AHTSST € 8879 W3 © miggy &t 3 9 -0
(a) TES AHE ) (b) MIEI AHTEIT
(c) TV AHE3T (d) AHVI AH&3T e
The author of “Post Behaviouralism’ is

(a) Karl W. Deutsch (b) David Easton

(c) Almond and Coleman (d) H.J. Laski

‘Post Behaviouralism’ &7 Syg AT J?

(@) I 3 f3@m (b) 3fe3 Ftres

(©) MHE 3 Iois (d) »¥. 7. T

2014 Parliamentary Elections in India were :

(a 15 b) 17*

() 16" . @ 14"

93 &9 2014 Enit HRet S5 Ao -

(@) 15 b 173

(c) 167 (d) 143

The number of States in USA is :

(a) 50 (b) 40

(c) 38 (d 45

mHdter 9 I o farest

(@ 50 (b) 40

(c) 38 | @ 45

Who is the author the book ‘Discovery of India’ ?

(a G. Almond (b) Sardar Patel

(¢c) MK. Gandhi (d) J.L.Nehru

‘Discovery of India’ UR3& T 34x &= 32

(@ . s (b) AT USH

(c) 9N . it (d) 7. 9. sfag

Which of the following Amendment to the Indian Constitution has made Right to
Education a Fundamental Right ?

(a) 92 - (b) 94"

(c) 86" d 91 :
aﬁ%ﬁbﬁﬁﬁ%ﬁmﬁ&mﬁu%ﬁﬁw%mﬁmémmwfé@
J?

(@ 92™ (b) 94*

(c) 86" @ 91
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145. Non-Alignment as India’s foreign policy meant :
(a) Neutrality
(b) Independence and judging each issue on its relevance to our national interests
(¢) Equidistance between the three Blocks during the cold war
(d) Interference into the internal affairs of other states

393 ot fem &5t T 39 '3 niRfodar = »igg A
(a) fou
(b) A3 IHST fost ¥ Wy f&e o9& 1Y '3 fage 3= »i3 F3393T
(c) HI3 WU g9 35 U3t 5% g9rgg TAsT
(d) JI&" IH T vt HRfen fFT Tum
146. The US approach to Cold War was originally set out in :

(a) The Nixon Doctrine (b) The Marshall Plan
(¢) The Monroe Doctrine (d) The Truman Doctrine
H3 oy & nidfter & W Fifiser gu 9 TS A
(a) foams W3 (b) HIRS GHsT fg
(c) Had W3 8 d) z3ns W3 fm
147. Number of Geographical Regions in Punjab is :
(@ 3 by 2
(c) 4 (d) None of the above
e T sdfea g5 & fredt 3
(@ 3 (b) 2
(c) 4 (d) None of the above
148. Number of Reserved Parliamentary Constituencies in Punjab is :
(@ 3 ®) 5
© 4 @ 2
Urre ¥ g ARet 9 Jefontt &t forest 3
(@ 3 ® 5
(e). 4 @ 2
149. Name the ruling party in Tripura.
(a) Congress (b) BJP
(¢) CPIM) (d TMC
fauar f&9 AAaT ueet J:
(a) dAGA (b) =AU
() H. At nrEt () (d oA
150. Who became the Chief Minister after 1967 Assembly elections in Punjab ?
(a) Justice Gurnam Singh (b)  Saint Fateh Singh
(c) Comrade Ram Kishan (d) Lachman Singh Gill
1967 St WSSt 97 3 gmie UFTg &7 WY H3dT o gfenr A\t 2
(a) wRfeR q9a™ fAw (b) A3 T3fofAu
(c) THIB IH foms (d) @aHE ffw i
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